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Timer
- baseTime : unsigned int Tlmer75Z .
tTi : igned | =1L
O T oy 1 B P DRFREZETRIT D,
IREE(XFoTUVELY,
commander

- phase2Time : unsigned long
- phase3Time : unsigned long
- phase4Time : unsigned long
- scheduling :int

- docked :int

- charging : int

+ entryDock() : void
+ setSchedule(phase2Time : unsigned long, phase3Time : unsigned long, phase4Time : unsigned long) : void

+isDocked() : int /\
/_/ _ )

Commander7 o X:
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PHASE1
WAIT TO_A entry / create->fullMode(); delay(2000); docked = [ PHASE3 ]
entry / setSchedule(3800, 11500, 2650) true 0; timer->resetTimer() entry / timer->resetTimer()
\ do/ te->dri 100, create->Dri ) do / create->drive(100, create->DriveStraight)
true [create->isPlayButtonPushed() == 1] § J

timer->g&tTi = 3000
rue [imer->g§{Timer() > ! true [timer->getTimer() >= phase3Time]

true [timer=>gétTimer() >= phase2Time]
[ PHASE2 PHASE4
entry / imer->resetTimer() entry / timer->resetTimer()
do / create->driveDirect(-100, 100) do / create->driveDirect(-100, 100)

ue
true [timer->getTimer{) >= phase4Time]

( OUT_OF_RANGE |
l do / create->drive(100, create->DriveStraight)J rue [(create->getiRByte() = create->IRCommar )1l (create-
>getiRByte() == create->IRCommandRedBuoyForceField)]

trugl(create->getIRByte() == create->IRCommandGreenBuoy) || (create-
@IRByte() == create->IRCommandGreenBuoyForceField)]

v
<

( 108
l entry / setSchedule(6000U, 15000U, 7000U) |

true [(create->getIRByte() == create->IRCommandRedBucy] [T
>getiRByte() == crepte->IRCommandRedBuoyForceField)]

TOO_LEFT

entry / create->drive(100, -400) |>

TOO_RIGHT
entry / create->drive(100, 400)
|8

true [(creaie:
>getIRByte(

| (create-

fol y rceField) || (create-
RByte() == create->IRCommardRedGreenBuoyForceField)]

true [(create->getiRByte() == create->IRCommandForceField) || (create-

true [(create->getiRByte() == create->IRCommandForceField) || (create-
>getIRByte() == create->IRCommandRedGreenBuoyForceField)]

>getIRByte() == create->IRCommandRedGreenBuoyForceField)]

( CENTER |
l entry / create->drive(0, create->DriveStraight) I

true / entryDock()

INTODOCK

do /if ((create->getChargingState() == create->Ct i 1gCharging) || te->getCt ) == create->Ct ullChanrging)) ing = 1} else ing =0}

l entry / charging = 0

|

true [((create->getChargingState() == create->ChargeStateReconditioningCharging) || (create->getChargingState() == create->ChargeStateFullChanrging))]

DOCKED
true [docked == 1]/docked = 0 entry / scheduling = 0; docked = 1 J
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p N\ PHASE1 ] p
-
WAIT TO_A entry / create->fullMode(); delay(2000); docked = PHASE3
| entry / setSchedule(3800, 11500, 2650) true 0; timer->resetTimer() entry / timer->resetTimer()
\ J do / create->drive(-100, create->DriveStraight) do / create->drive(100, create->DriveStraight)
true [create->isPlayButtonPushed() == 1] \

\ 7
true [timer->g&tTi >= 3000
rue ftimer->gg{Timer() .] - . true [timer->getTimer() >= phase3Tim¢]
true [timer=>gétTimer() >= phase2Time]

f PHASE2 ] [ PHASE4
entry / timer->resetTimer() entry / timer->resetTimer()
do / create->driveDirect(-100, 100) do / create->driveDirect(-100, 100)

\
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[

OUT_OF RANGE

true [(create->getIRByte() == create->IRCommandGreenBuoy) || (create-

l do / create->drive(100,

create->DriveStraight) true [(create->getiRByte() == create->IRCommandRedBuoy) || (create-

J

>getlRByte() == create->IRCommandGreenBuoyForceField)]

true [(create->getIR

[ TOO_LEFT >getIRByte() == cre

l entry / create->drive(100, -400)

= create->IRCommandGreenBuoy

true [(creaie->ge
create >|RCommandt orceField)]

>getIRByte() =

rue [(create->getIRByte() == create

>getiRByte() ==

true [(create->getIRByte() == create->IRCommandForceField) || (create-
>getlRByte() == create->IRCommandRedGreenBuoyForceField)]

create->IRCommarndRedGreenBuoyForceField)]

>getIRByte() == create->IRCommandRedBuoyForceField)]

Byte() == create->IRCommandRedBuocyj ||
ate->IRCommandRedBuoyForceField)] | TOO_RIGHT ]
entry / create->drive(100, 400) J

[N

|| (create-

>|RCommandForceField) || (create-

true [(create->getlIRByte() == create->IRCommandForceField) || (create-
>getIRByte() == create->IRCommandRedGreenBuoyForceField)]

[

CENTER

l entry / create->drive(0,

create->DriveStraight)
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